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	Figure
	Sample size (n)
	Statistical Test
	Values

	1A
	2.5 mM (n=3) 
7.5 mM (n=3)
15 mM (n=3) 
25 mM (n=3)
	Two-tailed unpaired Student’s t-test
	Ago2:
2.5 mM vs 7.5 mM: t=2.294, P=0.835
2.5 mM vs 15 mM: t=4.357, P=0.0121
2.5 mM vs 25 mM: t=2.914, P=0.0435
Gck:
2.5 mM vs 7.5 mM: t=3.916, P=0.0173
2.5 mM vs 15 mM: t=4.402, P=0.0117
2.5 mM vs 25 mM: t=8.347, P=0.0011

	1B
	2.5 mM (n=3) 
25 mM (n=3)
	Two-tailed unpaired Student’s t-test
	Ago2:
2.5 mM vs 25 mM: t=3.766, P=0.0197
Ago1:
2.5 mM vs 25 mM: t=1.367, P=0.3049
Gck:
2.5 mM vs 25 mM: t=4.447, P=0.0212
G6pc:
2.5 mM vs 25 mM: t=4.398, P=0.0480
Pc1:
2.5 mM vs 25 mM: t=3.428, P=0.0416
Pepck:
2.5 mM vs 25 mM: t=3.081, P=0.0369

	1C
	0 mM (n=3) 
2.5 mM (n=3)
25 mM (n=3)
	Two-tailed unpaired Student’s t-test
	0 mM vs 2.5 mM: t=2.491, P=0.674
0 mM vs 25 mM: t=2.831, P=0.0473

	1D
	0 mM (n=3) 
2.5 mM (n=3)
25 mM (n=3)
	Two-tailed unpaired Student’s t-test
	0 mM vs 2.5 mM: t=2.826, P=0.0475
0 mM vs 25 mM: t=3.318, P=0.0294
2.5 mM vs 25 mM: t=1.215, P=0.2913

	1E
	0 mM (n=2) 
25 mM (n=2)
	Two-tailed unpaired Student’s t-test
	Ago2: t=1.089, P=0.3898
Gck: t=1.623, P=0.2461

	1F
	Ab. lib (n=3)
Fasted (n=3)
	Two-tailed unpaired Student’s t-test
	Ago2: t=3.224, P=0.0321
Gck: t=2.721, P=0.0498

	1G
	Wild-type (n=3)
Lepob/ob (n=3)
	Two-tailed unpaired Student’s t-test
	Ago2: t=6.865, P=0.0024
Gck: t=9.791, P=0.0006

	2A
	Wild-type (n=3)
Alb-Cre, Ago2flox/flox  (n=3)
	Two-tailed unpaired Student’s t-test
	Ago2: t=7.832, P=0.0014
Ago1: t=7.694, P=0.0015

	2B
	Wild-type (n=7) 
Alb-Cre, Ago2flox/flox (n=5)
	Two-tailed unpaired Student’s t-test
	Ago2: t=8.912, P<0.0001
Ago1: t=4.032, P=0.0024

	2C
	Wild-type (n=11) 
Alb-Cre, Ago2flox/flox (n=8)
	Two-tailed unpaired Student’s t-test
	[bookmark: OLE_LINK1]Fed: t=0.02548, P=0.9800
Fasted: t=4.913, P=0.0001

	2D
	Wild-type (n=14) 
Alb-Cre, Ago2flox/flox (n=13)
	Two-way repeated-measure ANOVA
Post-hoc multiple comparisons test (Sidak's)
	Interaction: F=2.885, P=0.0652
Time: F=2007, P<0.0001
Genotype: F=0.2489, P=0.6222

	2E
	Wild-type (n=6) 
Alb-Cre, Ago2flox/flox (n=5)
	Two-way repeated-measure ANOVA
Post-hoc multiple comparisons test (Sidak's)
	Interaction: F=0.4700, P=0.7574
Time: F=51.98, P<0.0001
Genotype: F=0.00006823, P=0.9936

	2F
	Wild-type (n=6) 
Alb-Cre, Ago2flox/flox (n=7)
	Two-way repeated-measure ANOVA
Post-hoc multiple comparisons test (Sidak's)
	Interaction: F=2.03, P=0.1066
Time: F=175.3, P<0.0001
Genotype: F=0.9311, P=0.3486

	2G
	Wild-type (n=6) 
Alb-Cre, Ago2flox/flox (n=5)

A.U.C
	Two-way repeated-measure ANOVA
Post-hoc multiple comparisons test (Sidak's)

Two-tailed unpaired Student’s t-test
	Interaction: F=1.004, P=0.4180
Time: F=23.71, P<0.0001
Genotype: F=7.604, P=0.0222

t=3.051, P=0.0138

	2H
	Wild-type Chow (n=4)
Wild-type Keto (n=8)
Alb-Cre, Ago2flox/flox Keto (n=8)
	Two-way repeated-measure ANOVA
Post-hoc multiple comparisons test (Sidak's)
	Blood glucose:
Wild-type Chow vs Wild-type Keto:
Interaction: F=36.68, P<0.0001
Time: F=21.50, P<0.0001
Genotype: F=26.23, P=0.0004
Wild-type Chow vs Alb-Cre, Ago2flox/flox Keto:
Interaction: F=53.15, P<0.0001
Time: F=31.65, P<0.0001
Genotype: F=150.7, P<0.0001
Wild-type Keto vs Alb-Cre, Ago2flox/flox Keto:
Interaction: F=1.395, P=0.2577
Time: F=177.3, P<0.0001
Genotype: F=12.77, P=0.0031

Body weight:
Wild-type Chow vs Wild-type Keto:
Interaction: F=28.42, P<0.0001
Time: F=3.17, P=0.0386
Genotype: F=20.37, P=0.0011
Wild-type Chow vs Alb-Cre, Ago2flox/flox Keto:
Interaction: F=24.78, P<0.0001
Time: F=4.469, P=0.0104
Genotype: F=13.88, P=0.0039
Wild-type Keto vs Alb-Cre, Ago2flox/flox Keto:
Interaction: F=0.886, P=0.4562
Time: F=12.5, P<0.0001
Genotype: F=0.04363, P=0.8375

	2I
	Wild-type (n=6) 
Alb-Cre, Ago2flox/flox (n=5)
	Two-tailed unpaired Student’s t-test
	G6pase: t=3.015, P=0.0130
[bookmark: OLE_LINK2]Pepck: t=2.3, P=0.0505
Pc1: t=3.641, P=0.0054

	2J
	Wild-type (n=3)
Alb-Cre, Ago2flox/flox  (n=3)
	Two-tailed unpaired Student’s t-test
	G6Pase: t=3.821, P=0.0188
Gck: t=10.84, P=0.0004
Gly Synth: t=16.81, P<0.0001

	2K
	Wild-type (n=6) 
Alb-Cre, Ago2flox/flox (n=7)
	Two-tailed unpaired Student’s t-test
	t=0.3772, P=0.7132

	3A
	Fed (n=5)
Fasted (n=5)
	Two-tailed unpaired Student’s t-test
	AMPKα:
fasted vs fed: t=3.223, P=0.0322
fasted vs IgG: t=2.791, P=0.0492
fed vs IgG: t=3.821, P=0.0188
miR-148a:
fasted vs fed: t=2.806, P=0.0485
fasted vs IgG: t=3.39, P=0.0275
fed vs IgG: t=4.042, P=0.0156
miR-152:
fasted vs fed: t=2.635, P=0.0.0463
fasted vs IgG: t=5.258, P=0.0063
fed vs IgG: t=4.056, P=0.0257
miR-122:
fasted vs fed: t=3.009, P=0.0298
fasted vs IgG: t=3.39, P=0.00275
fed vs IgG: t=4.056, P=0.0098

miR-16:
fasted vs fed: t=2.682, P=0.0278
fasted vs IgG: t=7.184,  P<0.0001
fed vs IgG: t=5.505, P=0.0006

	3B
	Wild-type (n=3)
Alb-Cre, Ago2flox/flox  (n=3)
	Two-tailed unpaired Student’s t-test
	Ago2: t=16.15, P<0.0001
AMPKα: t=4.206, P=0.0136
p-AMPKα: t=2.805, P=0.0486

	3C
	Wild-type (n=7) 
Alb-Cre, Ago2flox/flox (n=6)
	Two-tailed unpaired Student’s t-test
	miR-122: t=0.1184, P=0.9081
miR-148a: t=4.709, P=0.0008
miR-22: t=0.3089, P=0.7653
miR-378: t=1.859, P=0.1001
miR-103: t=11.07, P<0.0001
miR-27b: t=0.004651, P=0.9964
miR-16: t=0.4846, P=0.6427
miR-152: t=2.766, P=0.0219
miR-33: t=0.1217, P=0.9055

	3D
	ctrl-mimic (n=6) 
mimics(n=6)
	Two-tailed unpaired Student’s t-test
	miR-148a: t=6.539, P<0.0001
miR-27b: t=2.025, P=0.0704
miR-124: t=0.5988, P=0.5627
miR-128: t=7698, P=0.4592

	3F
	ctrl-mimic 200nM (n=6) 
148a-mimics 50nM
(n=8)
148a-mimics 200nM
(n=5)
	Two-tailed unpaired Student’s t-test
	ctrl vs 148a-mimic 50nM: 
t=2.418, P=0.0324
ctrl vs 148a-mimic 200nM: t=3.35, P=0.0085


	3G
	Ab. lib (n=3)
Fasted (n=3)


Ab. lib (n=5)
Fasted (n=5)
	Two-tailed unpaired Student’s t-test
	Ago2: t=2.910, P=0.0437
AMPKα: t=2.779, P=0.0499
p-AMPKα: t=6.067, P=0.0037

RT-PCR: 
Ago2: t=1.081, P=0.3114
AMPKα1:   t=2.272, P=0.0527

	3H
	Wild-type (n=3)
Lepob/ob (n=3)


Wild-type (n=6)
Lepob/ob (n=6)
	Two-tailed unpaired Student’s t-test
	Ago2: t=3.818, P=0.0188
AMPKα: t=3.774, P=0.0195
p-AMPKα: t=13.14, P=0.0002

RT-PCR: 
Ago2: t=2.345, P=0.041
AMPKα1:   t=2.578, P=0.0275

	3I
	Wild-type (n=3) 
Alb-Cre, Ago2flox/flox (n=3)
	Two-tailed unpaired Student’s t-test
	p-ACC: t=7.940, P=0.0014
ACC: t=4.893, P=0.0081
FAS: t=1.989, P=0.1176

	3J
	Wild-type (n=6) 
Alb-Cre, Ago2flox/flox (n=4)
	Two-tailed unpaired Student’s t-test
	t=1.029, P=0.3335

	3K
	Wild-type (n=7) 
Alb-Cre, Ago2flox/flox (n=7)
	Two-tailed unpaired Student’s t-test
	t=2.675, P=0.0406

	4A
	Lepob/ob (n=3) 
ob/Ago2Alb (n=3)
	Two-tailed unpaired Student’s t-test
	Ago2: t=4.752, P=0.009
Ago1: t=3.25, P=0.0314

	4B
	Lepob/ob (n=9) 
ob/Ago2Alb (n=6)
	Two-way repeated-measure ANOVA
Post-hoc multiple comparisons test (Sidak's)
	Interaction: F=4.311, P=0.0008
Time: F=518.5, P<0.0001
Genotype: F=41.93, P<0.0001

	4C
	Lepob/ob (n=3) 
ob/Ago2Alb (n=3)
	Two-tailed unpaired Student’s t-test
	fat: t=5.096, P=0.007
lbm: t=2.025, P=0.1129

	4D
	Lepob/ob (n=6) 
ob/Ago2Alb (n=4)
	Two-tailed unpaired Student’s t-test
	Fed: t=2.174, P=0.0425
Fasted: t=2.573, P=0.0232

	4E
	Lepob/ob (n=6) 
ob/Ago2Alb (n=4)
	Two-tailed unpaired Student’s t-test
	Fed: t=2.797, P=0.0233
Fasted: t=2.773, P=0.0242

	4F
	Lepob/ob (n=6) 
ob/Ago2Alb (n=3)
	Two-way repeated-measure ANOVA
Post-hoc multiple comparisons test (Sidak's)
	Interaction: F=0.0286, P=0.9718
Time: F=0.03826, P=0.9625
Genotype: F=5.821, P=0.0251

	4G
	Lepob/ob (n=3) 
ob/Ago2Alb (n=3)
	Two-tailed unpaired Student’s t-test
	t=2.804, P=0.0486

	4H
	Lepob/ob (n=3) 
ob/Ago2Alb (n=3)
	Two-way repeated-measure ANOVA
Post-hoc multiple comparisons test (Sidak's)

Two-tailed unpaired Student’s t-test
	Interaction: F=1.653, P=0.2098
Time: F=67.04, P<0.0001
Genotype: F=11.06, P=0.0292

t=2.205, P=0.0358

	4I
	Lepob/ob (n=3) 
ob/Ago2Alb (n=3)
	Two-tailed unpaired Student’s t-test
	G6Pase: t=2.777, P=0.0500
Gck: t=0.5640, P=0.6029

	4J
	Lepob/ob (n=3) 
ob/Ago2Alb (n=3)
	Two-tailed unpaired Student’s t-test
	p-Akt2: t=3.385, P=0.0276
Akt2: t=1.528, P=0.2013

	4K
	Lepob/ob (n=3) 
ob/Ago2Alb (n=3)
	Two-tailed unpaired Student’s t-test
	p-FoxO1: t=3.714, P=0.0206
FoxO1: t=0.2057, P=0.8471
Pten: t=1.591, P=0.1868

	4L
	Lepob/ob (n=6) 
ob/Ago2Alb (n=6)
	Two-tailed unpaired Student’s t-test
	miR-148a: t=2.277, P=0.046


	4M
	Lepob/ob (n=3) 
ob/Ago2Alb (n=3)
	Two-tailed unpaired Student’s t-test
	Ago2: t=7.093, P=0.0021
AMPKα: t=3.215, P=0.0324
p-AMPKα: t=6.941, P=0.0023

	4N
	Lepob/ob (n=3) 
ob/Ago2Alb (n=3)
	Two-tailed unpaired Student’s t-test
	p-ACC: t=6.576, P=0.0028
ACC: t=2.518, P=0.0655
FAS: t=2.790, P=0.0493

	4O
	Lepob/ob (n=6) 
ob/Ago2Alb (n=4)
	Two-tailed unpaired Student’s t-test
	t=2.073, P=0.0718

	4P
	Lepob/ob (n=6) 
ob/Ago2Alb (n=6)
	Two-tailed unpaired Student’s t-test
	Ago2: t=5.283, P=0.0004
Ampkα1: t=2.443, P=0.0346
Cpt1: t=0.56, P=0.5904
Lpl: t=2.637, P=0.0249
Scd1: t=0.3885, P=0.7078
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Supplementary Table 3.   Summary of statistical analyses    

Figure  Sample size  (n)  Statistical Test  Values  

1 A  2.5   mM   (n= 3 )    7 .5 mM (n=3)   1 5 mM   (n= 3 )    25 mM (n=3)  Two - tailed unpaired  Student’s t - test  Ago2 :   2.5 mM vs 7.5 mM : t= 2.294 ,  P= 0.8 35   2.5 mM vs 15 mM : t= 4.357 ,  P= 0.01 21   2.5 mM vs  2 5 mM : t= 2.914 ,  P= 0 .0435   Gck :   2.5 mM vs 7.5 mM : t= 3.916 ,  P= 0.0173   2.5 mM vs 15 mM : t= 4.402 ,  P= 0.0117   2.5 mM vs  2 5 mM : t= 8.347 ,  P= 0.0011  

1 B  2.5 mM   (n= 3 )    25 mM (n=3)  Two - tailed unpaired Student’s t - test  Ago2 :   2.5 mM vs 25 mM : t= 3.766 ,  P= 0.0197   Ago1 :   2.5 mM vs 25 mM : t= 1.367 ,  P= 0.3049   Gck :   2.5 mM   vs  25 mM : t= 4.447 ,  P= 0.0212   G6pc :   2.5 mM   vs  25 mM : t= 4.398 ,  P= 0.0480   Pc 1 :   2.5 mM   vs  25 mM : t= 3.428 ,  P= 0.0416   Pepck :   2.5 mM   vs  25 mM : t= 3.081 ,  P= 0.0 369  

1 C  0   mM   (n= 3 )    2 .5 mM (n=3)   25 mM (n=3)  Two - tailed unpaired Student’s t - test  0 mM vs 2.5 mM : t= 2.491 ,  P= 0.674   0   mM vs  2 5 mM : t= 2.831 ,  P= 0.0473  

1 D  0 mM   (n= 3 )    2.5 mM   (n= 3 )   25 mM (n=3)  Two - tailed unpaired Student’s   t - test  0 mM vs 2.5 mM : t= 2.826 ,  P= 0.0475   0 mM   vs  25 mM : t= 3.318 ,  P= 0.0294   2.5 mM  vs  25 mM : t= 1.215 ,  P =0.2913  

1E  0   mM   (n= 2 )    25 mM (n= 2 )  Two - tailed unpaired Student’s t - test  Ago2 : t= 1.089 , P= 0.3898   Gck : t= 1.623 , P= 0.2461  

1F  Ab. lib   (n=3)   Fasted   (n= 3 )  Two - tailed unpaired Student’s t - test  Ago2 : t= 3.224 , P= 0.0321   Gck : t= 2.721 , P= 0.0498  

1G  W ild - type   (n=3)   Lep ob/ob   (n= 3 )  Two - tailed unpaired Student’s t - test  Ago2 : t= 6.865 , P= 0.0024   Gck : t= 9.791 , P= 0.0006  

2A  W ild - type   (n=3)   Alb - Cre,   Ago2 flox/flox    (n=3)  Two - tailed unpaired Student’s t - test  Ago2 : t= 7.832 , P= 0.0014   Ago1 : t= 7.694 , P= 0.0015  

2B  Wild - type (n= 7 )    Alb - Cre,  Ago2 flox/flox   (n= 5 )  Two - tailed unpaired Student’s t - test  Ago2 : t= 8.912 , P <0.0001   Ago1 : t= 4.032 , P= 0.0024  

2C  Wild - type (n= 11 )    Alb - Cre,  Ago2 flox/flox   (n= 8 )  Two - tailed unpaired Student’s t - test  Fed : t= 0.02548 , P= 0.9800   Fasted : t= 4.913 , P= 0.0001  

2 D  Wild - type (n= 1 4)    Alb - Cre,  Ago2 flox/flox   (n= 13 )  Two - way repeated - measure  ANOVA   Post - hoc multiple comparisons test  (Sidak's)  Interaction: F= 2.885 , P= 0.0652   Time: F= 2007,  P< 0.0001   Genotype: F= 0.2489 , P =0.6222  

2 E  Wild - type (n= 6 )   Two - way repeated - measure  ANOVA  Interaction: F= 0.4700 , P= 0.7574   Time: F= 51.98,  P< 0.0001  

